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Se ction A (30 p 4 2 marks 60 marks) '
For each question from 1 to 30, four ophons are gwen One of tham is the
comrect answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,
3 or 4) on the Optical Answer Sheet provided.

1.  The classification table below shows how.some plants are grouped
according to the way their seeds are dispersed.

Seed dispersal of flowering plants

Which one of the following is the most suitable sub-heading for Groups

Group A Group B
lotus guava
nipah papaya

pong pong love grass

A and B respectively?
_ Group A ~ GroupB
{1) By splitting By wind
(2) By water By animals
(1)) By wind By water
4) By water By wind




" 2. 7 Thédiagrami below shows Sheryl's family tiee.

curly hair straight hair
double eyelids single eyelids
straight hair straight hair
single eyelids double eyelids
curly hair
double eyelids Key male
Sheryl

O female

Based on the diagram above, which characteristic does Sheryl have
that is not present in her parents?

{1 straight hair
(2) curly hair

(3) singie eyelids
4) double eyelids



.3 The diagram belaw shows the fiow of blood in blood vessels A, B, C
-+ endDincertain parts of the body. - . .t .- ool

lung

oA YA

heart

c A | \Lua

all parts of the body

Which one of the following blcod vessels contains blood that has the
most amount of carbon dioxide? i .

(1) A 2 B
@ c 4 D



Jessm prepared two ‘set-ups using identical pilants as shown:bélqw.
© “An. eéqual amount_of water was poured into each measuring beaker
before sealing it tightly with a lid. She removed most of the leaves in

set-up B.

measuring

e N "

$——water

lid
water —

-
bk

set-up A set-up B

Which one of the following graphs correctly shows the amount of water
in each set-up over a period of time?

(1 (2)
amount of water (ml) amount of water (mi)
A
B B
A
-3 days —p days
(3
) amount of water (mf) 4). amount of water (mf)
A
B
B
— days —> days



Th diagram betow shows 3 cell, . . -

What is the function of X7
(i) It makes food for the'plant. -
{2) It gives the plant its fixed shape.

(3) it controls substances entering and leaving the cell.
(4) It allows substances to nove around within the cell.

Study the life cycle below.

Larva \

Pupa

E /
\ Aduit/

Which of the following organisms have g simitar life cycle as the one
shown above?

A Frog

B Mosquito

C Grasshopper

D Meaiworm beetle
(1 A and C only (2) B and D only
(3) A, B and D only (4) B, C and D only



. Which one of the following does riot follow a cycle? . .- - i+

(1)
(@)
(3)
(@)

A chick growing into a hen.

A papaya tree producing fruits.
The movement of clouds in the sky.
The shadow cast by a building at different times of the day.

Mary carried out an experiment with seeds A, B, C, D and E to find out
the necessary conditions for seeds to germinate. She recorded her
investigations in the table below. ‘

Seed Mineral Water Light Air Warmth
salts

A Present | Present | Absent Present | Present

B Present | Present | Present Absent Present

c Absent | Present | Present | Present | Present

D Present | Absent | Present | Present Absent

E Absent | Present | Absent | Present | Present

Which of the seeds above will most likely germinate?

(1)
2)
(3)
4)

A, Band C only

A, Cand E only .

B. C and D only
C, D and E only




9. - The dlagram below shows how b!ood ﬂows in certam parts of the body
a few hours after a meal. "

lungs

heart

smalt intestine

Which of the following statement(s) is/are true of the blood flowing in
blood vessels located at X and Y?

A Blood in X contains more waste than bloodinY.
B Biood in Y contains more digested food than blood in X,
C Blood in X contains more dissolved oxygen than blood in Y.
D Bicod in Y contains more dissoived carbon dioxide than
blood in X.
(1) Aonly (2) B and C only
(3) A, C and D only (4) B, C and D only



40, The disgrem below shows the human digestie system. - -

In which part A, B, C or D is digestive juices produced?

1 A 20 B
3 ¢ 4 D

11.  Which of the following methods help to conserve water?

A Using a hose to wash the floor.

B Tuming off the tap when one is soaping the body.

C Using tap water instead of rain water fo wash the car.

D Using the washing machine only when the load is full.
(1) A and B only (2) B and D only
3) A, B and C only 4) A B CandD



- 12. The set-up be!ow shows two s:mllar beakers filled wrth a block of i ice.
The beakers were heated w1th burnsen-bumners: The ice in'the beakers
eventually melted and boiled.

block of ice block of ice

bunsen bumer

Which one of the following graphs correctly shows the temperature of
water inside the beaker throughout the experiment?

) temperature (°C) @ temperature(°C)
A
A
b/:B
_Ztlme {min) -» time (min)
® :
emperature("C) . temperature( C)

-

A 4 A
/' B
¥ time(min) » time (min)

10




130 Joy wrapped a sheet of clear p!asttc around a: potted plant-on day 1 as
© 7 shown below. She [eft the potted plant. ovemlght in the balcony.

plastic sheet

Day 1 Day 2

On day 2, she observed tiny droplets of water on the inside of the
plastic sheet as shown in the diagram.

Which of the following statement(s) possibly explained her observation?

A The plants released droplets of water through its leaves.
B Water in the soil evaporated and condensed to form waler
droplets.
Cc Water vapour inside the plastic sheet came info contact with the
cooler plastic sheet.
3 Temperature of the plastic sheet during the night was higher than
that of the gases inside it.
(1) C only (2) A and B only
(3) A,Band C only (4) B.CandD only

11



- 14,

15.

16.

Which of thé following are sources of electricity? -

A motor

B Dbattery

C lightning

D light bulb
(1) AandBonly @  BandConly
(3) A, B and C only (4) A,B,CandD
Study the circuit below.

G

Which of the bulbs will stift light up when bulb E fuses?

(1) A and C only (2) A, B and C only
(3) A, B, Cand D only (4) -None of the bulbs

Jimmy set up a circuit as shown below.

1A B B éz)
% R c°cTc°c®

All six bulbs were lit when all four switches A, B, C and D were closed.
He wanted the fewest number of buibs to be lit by opening only one
switch.

Which switch should he open?
(1 A ' 2 B
3 C 4 O

12



24 Which of the following are Waysr_mét;w_e can conserve g!ectricai ene(gy? -

25.

Use air- conditioners. -

oOwmrE

{1) A and B only
(3) A,CandDonly

Use energy-saving light bulbs:
Switching on the water heater only when you are using it. |
Switching off the electrical appliances when they are not in use.

(2) B and C only
(4) B, C and D only

Kenneth is trying to move 4 similar boxes along the same stretch of
floor using similar ropes as shown below. All 4 boxes have the same
mass and size. In which scenario will Kenneth find it the most difficuit to

" move the box along the floor?
N 2)
rope
rope
cart with wheels
(3) @
rope
oil at the bottom of l;[pe rubbed with
the box

17




21, Two bulbs; A and B, are Gonnected 10 a battery as shown below..

Which one of the following statements is correct?

(1)
(2)
(3)
(4)

Both bulbs light up..

Only bulb A lights up.
Only bulb B lights up.

Both bulbs did not light up.

22. Three circuits, A, B and C as shown below were connected with rods

made of different materials.
civcuit A circuit B circuit C
1
iron rod plastic rod fron rod giass rod
Which of the above circuit(s) would the bulb light up?
(1) Aonly (2) Bonly
(3)

C only (4) A and C only

15



- ,_2§~ Judy created a circuit. board game for-a Science Fair: The game_-

consisted of 2 batferies and 4:light bulbs placed'in bulb-hoiders: The . <.

wires were hidden behmd the board.

"8 @
¥ Yo

In this board game, all the ‘bulbs are lighted in the beginning. A
participant is required to remove one bulb at a time to observe the
effect on the other bulbs. The results are shown below.

Bulb removed Findings
A Bulbs B, C and D did not light up
B Buibs A, C and D did not light up
C ~ Bulbs A, B and D remained lighted
D Bulbs A, B and C remained lighted

Which one of the foliowing shows the correct circuit for the board game?

(1) A (2)
— |
C B

3) (4)

16



24. Which of the following are ways that we can conseive electrical energy? ©

25.

A Use air- conditioners. -

B Use energy-saving light bulbs.

C  Switching on the water heater only when you are using it.

D Switching off the electrical appliances when they are not in use.
{1) A and B only 2) B and C only
(3) A, C and D only 4 B, C and D only

Kenneth is trying to move 4 similar boxes along the same stretch of
floor using similar ropes as shown below. All 4 boxes have the same
mass and size. In which scenario will Kenneth find it the most difficult to
move the box along the floor?

1) @
fope
rope
cart with wheels
3) @
rope
oil at the bottom of ;‘:lpe rubbed with
the box

17



" 260 "Maiy covered the ‘surface ‘of the ramp viilhi material W. Then, she
released a box at the top of the ramp. She recorded the time taken for
the box to reach the bottom of the ramp.

surface covered with material W
top of ramp

bottom of ramp
ramp—t1—

She repeated the experiment with another 3 identical ramps of different
materials, X, Y and Z, covering the surfaces. She recorded the resuits
in the table below.

Type of surféce Time taken for the box to
move from top to bottom of
ramp (seconds) .

20

35

18

N|<[x|S

47

Which material, W, X, Y or Z, is the most suitable to be used to make
an anti-slip bathroom mat?

1 w
2 X
3 Y
4 2z

18



.27, Xie Min wanted to ﬁnd out if the mass of an ob;ect wou!d aﬁect the tlme
taken for it to reach the end of the ramp. She set up the experiment-as
shown below. She then pushed objects A and B down the ramp.

Object A

Height of
block

Height of

- ramp  block ramp

Based on the above experiment, which of the following variables
should be kept the same?

A Height of the block

B Mass of the objects used

C The material used to make the ramp

D The starting position from which the objects were released -

(H A and B only (2) B and C only
(3) A, C and D only 4) B, C and D only

28. The diagram below shows how the length of a spring changes when
different weights are hung on it. The spring retums to its original length
when the weights are removed.

LLLLLLL L LSS L L

8cm
100g
200g
400g
What is the original length of the spring, without any weights
hung on it?
(1) - 2cm
(2) 4cm
(3) 6 cm
4 8 cm

19



29 Miss Yacob ‘sets tip-an i'éxﬁé'ri'ﬁ‘e'nt".ﬁs'ing‘ é'étfong' bar magnet and a
paper clip, as shown in the diagram below. The paper clip appears to

be suspended in mid-air.
R
1 f—————— strong bar magnet
retort stand —— ¢ N
paper clip
" : string
; plasticine

What will happen to the paper clip when she cuts the string?

(1) The paper clip will drop.

(2) The paper clip will break.

(3) The paper clip will be attracted to the magnet.
4 The paper clip will remain suspended in mid-air.

20



730.- Which of the following actions involve a pull?

J (A) Moving a car forward (B) Playing a game of tug of war

(C) Dragging a heavy bag of (D} Cutting the fingemails with a nail
- rubbish - clipper

() A and D only
(2) B and C only
(3) A, Band D only
(4} B, C and D only

21
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. Section B (40 marks)

- T.'Wnte your-answers to questlons 31 to 44 in the spaces prowded

31. Rick was asked to observe two different types of cell as shown below.

cell A cell B

(@) What is the function of part X? (1]

(b) Based on the diagrams above, which cefl A or B is an animal cell?
Explain your answer. [1]

(c) Give a reason why it is important for organisms to produce new celils.
[1]

23



32.

- Ravi conducted an-experiment to find out how his pulse rate varied with
- different: activities.-He measured-his pulse rate. lmmediateiy aﬂer each activity

and recorded the results in the table below.

Activity Pulse rate per minute
A 80
B 90
C . 100
3] 120

(a) Suggest one variable with regard to the activities that Ravi had to
keep constant to ensure a fair test. 1]

(b) The pulse rate of a person who is reading a book is approximately 65
per minute. Explain why Ravi's pulse rate increased to 120 beats per
minute after engaging in activity D. [2]

24



:33-;- ,_j'f' Farmer Peter owned ar_\ apple farm He planted appte tlees in rows: as shown B

in'the d|agram below.

Farmer Peter planted the apple trees in rows with different distances between
the apple trees. He recorded the distances between the apple trees and the
average number of fruits produced by each tree in the table below.

Distance
between
the trees 3 4 5 6 7 8
(D) in
metres

Number

of apples
produced 30 40 50 55 55 55
per tree

(@)() Based on the table above, what is the relationship between the
distance between the trees and the number of apples produced per
tree? - 1]

(i)  Explain why the trees produce lesser fruits when they are too near to
one another. 1]

25



) (b) The diagram below shows the cross-sectton of an msect-pollmated

fiower, similar to that of an apple tree

Identify parts X and Y and state their main functions in the fable below.

[2]

Part

Functior

26




: - The-diagram below shows the life cyle'of a buttery. .~ . .~ -

(@)

(b)

\ iy / larva

~ Pupa

The larva is considered a pest to farmers. Explain why the adutt
butterfly is not considered a pest by the farmers. 1

State 2 differences between the life cycle of the butterfly and the life
cycle of a cockroach. [2]

M

(i)

27



35. .Jia Wei wanted to find out if the presence of sunlight affected the growth of -
: .plants. He. planted 2 5|mllar balsam plants |n smlar pots as- shown in the
" diagram below.

balsam plant

clayey soil

Pot X PotY

He recorded the following information in the table below.

Type of soil | Amountof | - Amountof | '.Locaﬂoﬁofﬁots
soil in pot | water per day _
Garden soit 750 mi 250ml in the cupboard
Pot X .
Pot Y Clayey soit 750 ml 300 mi in the basketball court

What were 2 changes that Jia Wei had to make to ensure that his experiment
was a fair one? [2]

(i)

(i)




. 36 Herman was trapped in an enclosed it with no ventilation. The graph below :
- showed the. amount of oxygen' 1ns:de the lift. over a penod of tlme L

Amount of
oxygemn

»time

(@) Based on the information above, what was the relationship between
the amount of oxygen inside the lift and the number of breaths Herman
took? (1}

(b) Based on the answer in part (a), explain why the number of breaths
Herman took changed with fime. (11

29



37. The diagram below shows the same-amount of substance X cut into different
sizes and-placed into beakers ggptgiqqu_.l_iqu_id Zrespectively. - - )
substance ~ substance substance
X X

ARHRLEL

beaker C

liquid Z

liquid Z
The table below shows the time taken for substance X fo dissolve completely.

Beaker Time taken for substance X to
dissolved completely (minutes)
A 10
B ( )
C 3

(@ In the table above, fill in the blank to indicate the time needed for
substance X to dissolve completely in beaker B. {1}

(b} How does chewing our food more times before swallowing helps in
speeding up the time needed for digestion? [1]




-+ 38. The diagram below shows a water cycle. . -

(i)

(a) In the boxes above, identify the state of water found in the water cycle
above. [l

Samuel poured equal amount of hot and cold water into identical cups
respectively. The temperature of the hot water and cold water was 85°C and
5°C. He placed the respective cups of water into identical black boxes and
covered them with a lid that had tiny holes. Samueli put the black boxes onto a
beam balance and showed it to Jack as shown in the diagram below.

black boxes holes

beam balance

(b) How was Jack able to determine which was the box that contained the
cup with cold water? Explain your answer. [2]

31



30,  Albert comstructed a circuit card. The diagram below shows the circuit card
with points A, B, C, D, E and F. Four of the points were connected with wires

hidden behind the card.
A B
o o — 8
Eb dc Ends of\mres{ |
N 8 _ —_
E D
Circuit teste
Circuit card (Front View) ! '

The circuit card was tested with a circuit tester. The ends of the wires of the
circuit tester were connected to fwo points at a time. The table below shows
the results. PR

Pair of points tested ' Bulb lit up Bulb did not light up
v

Aand F

Band D v

Aand C

7
DandF v

EandF v

Aand D v

From the results above, draw two lines in the diagrams below to show how

Albert connected the points with wires. 2}
B A
U
C cp F
a/ 0
E D E
Circuit card (Back View) Circuit card (Back View)

32



_ 40 . Jonathan set up 3 circuits using identical bulbs’ and batlen&a as shown below.
. Two sumtlar objects were added o setups Q and R.: O S :

[ y4 | |

N object ' object |
Setup P Setup Q Setup R
He made the following observations when the three switches were closed at
the same time.
Setup Bulbs

P i Lit up ‘

Q Lit up brighter as compared to setup P

R Did not light up
(a) What was the same object that was added to both setups Q and R? [1]

(b)

(©

(d)

Explain why the bulbs in setup R did not light up when the object was
added? [1]

What would happen to the brightness of the bulbs if another bulb was
added in series to setup P? [l

Explain why the buibs in setup Q did not fight up when Jonathan added
1 more battery. . (]

33




41..  The diagram below shows 4 lighted bulbs P, Q, R and S in a circuit.

(@ A switch was to be installed so that a particular bulb could be switched
on or off while the other 3 remained lighted.

Mark "X” on the circuit above to show where you should connect the
switch. 1]

Study the diagram beiow.

(b)  Would the bulbs light up if the wire was cut at point A as indicated in
the diagram above? Explain your answer. [1]




. (© Matthew wanted to install a bulb_in each of his. bedroom such that he

could swntch on or off the bu!b in each room lndmdually

d°°i' -- | door

Living Room Bedroom 1 Bedroom 2

Top view of the living room and 2 bedrooms

In the box below, construct a circuit diagram fo show how he can use the
two_individual bedroom switches to control the bulbs in each of the two
bedrooms. 2]
Symbols to use 7 _ J

Bulb _®—

Switch —o" o—

Wire

door door y

Living Room Bedroom 1 Bedrcom 2

Power
Supply

35



‘42, Forces X and Y are acting on a box as shown |n the dlagram below The box

is placed on'a‘sniooth table top.-
force X force Y
—_—_— C—

box

T~

table top

(8) In the table below, fill in the value for Force Y such that the box will
remain stationary. i1

20

Force Z is applied to the box causing it to move in direction A as shown
in the diagram below.

- € Force Z
box
< » ) \
_ A table top

() In the diagram above, draw and label one other force which is acting on
the box. (1]



43, . Daisy placed a bar magnet 1 cm away from an ifon nail as shown in the =
 ‘diagram below. She observed. that the -iron” nail - ‘moved: towards "the. bar.

magnet.

bar magnet

iron nail

(a) Name the force that was exerted on the nail by the magnet. [}

Daisy repeated the experiment with another small object of the same mass.
She observed the resuit as shown in the diagram below.

bar magnet

Small object

(b) Explain why the object moved in the way as shown in the diagram
above. (1]

37



44 'Ding Jie rolled a marble on the floor in the direction as indicated by arrow X.
"He noticed that the marble ro!led on. the ﬂoor far a whlle and gradually

- stopped rolling.
marble
b, x
Py >

" (@) Explain why the marble stopped rolling.. [1

(b) Suggest one way in which Ding Jie could make the marble roli over a
longer distance on the same floor before stopping. (11

(c) | Ding Jie was watching a football match at the stadium. He noticed that
the players exerted forces on the moving ball using their legs. State

L2 poss:b!e effects on the moving bail when a force was exerted on it.

{21

Effect1:

Effect2:

ENO
38



Primary School Test Paper Singapore

Save Your Money, Save Your Time, No More Worries

Powered by www .testpaper.biz

EXAM PAPER 2015

LEVEL : PRIMARY5 . .= .
SCHOOL : NANYANG PRIMARY SCHOOL
SUBJECT : SCIENCE

TERM : SA2

Q1 J02 |03 |04 [0S o6 [Q7 [g8 [Q9 T[q1o
2

2 4 1 3 2 4 2 2 2
Q1l |01z |Q13 |Q14 |Q15 |016 |0Q17 |0Q18 |Q19 | Q20
2 1 1 1 2 3 1 3 4 2
Q21 |Q22 |0Q23 |Q24 |Q25 {026 [Q27 Q28 [Q29 Q30
1 1 2 4 4 4 3 3 3 2

Q31a. Controls the cell and also contains genetic information.
Q31b. A. It does not have a cell wall.

Q31c. As the old cells are damaged, cells have 1-:0 go through cell division so the
cells contain hereditary traits.

Q32a. The time he took to do each activity.

Q32b. The heart had to pump faster to pump more blood rich in oxygen and
digested food to other parts of the body and removes more carbon dioxide.

Q33ai) The further the distance between the trees, the more the number of
apples produced per tree, but the number of fruits produced remains the same.

Q33aii) They would be overcrowded and have to compete for sunlight, water,
mineral salts and oxygen when they are too near to one another.

Q33b. Part X : Anther - Produces pollen grains
Q33b. Part Y : Petals - To attract insects by their colourful petals.

Q34a. The butterfly helps in pollinating the fiowers.

Q34bi) The butterfly has a 4 - stage life cycle while a cockroach has a 3 - stage
life cycle.

Q34bii) The butterfly’s young does not lock like the adult but the cockroaches’
young looks like the adult.

Q35i) He had to put the same type of soil for both pots.
Q35ii) He had to give the same amount of water per day for both plants.

Q36a. The more the number of breaths Herman took, the lesser amount of
oxygen inside the lift.
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h Q36b. Herman hasto i mcrease the number of breaths in orderho take in the same

e amount of oxygen. -

Q37a.B-6

Q37b. It will be digested into smaller pieces, helping it to be digested faster, our
food will have a greater surface area / smaller pieces in contact with the

Q38a. SEE PICTURE

digestive juices.

n Liduid
s s a_\:'b )4 aseous

byt

Q38b. The side with the boy that tilt downward is the box that contains cold
water. Warmer water vapour in the air touches a cooler surface and condenses
to form tiny droplets of water, causing the beam balance to tilt.

Q39. SEEPICTURE

8
U —U
c "3/) F cp — F
0 0
‘ o
o E D E
Cireiiit card (Back View) Clrcuit card (Back View)

Q40a. Battery .-
Q40b. Batteries are connected with the positive ends
Q40c. The brightness of the bulb would be dimmer.

Q40d. Too much current flowing throungh, the bulb will fuse.



- Q41a. SEEPICTURE . 41..  The diagrarm below shows 4 ighted bulbs P. 0. R ahd S in a circuit.

Q41b. No. Electricity will not be able to flow through as it wounld be an open
circuit

Q41c. SEEPICTURE Q42a. Force Y (N) - 20
Hoor . " door
S e .

' ; i B/

: : .

i ; :

L Living Room ] Bedroom 3 & Bodrogm 2

| Power I ——J
Supply

Q42b. SEE PICTURE

box !
\

I
7 oo TS
A tahle top
Grraviighonal Toree -

Q43a. Magnetic force of attraction

Q43b. The small object is repelled by the bar magnet.
Q44a. There is friction between the marble and the ground.
Q44b. Exert more force on the marble.

Q44c. Effect 1 : The ball will move faster.

Q44c. Effect 2 : The ball ' will change its direction.
THE END
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